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Data: Specific heat ice 2.06 J/g K, specific heat water 4.184 J/g K, heat of fusion water 333J/g

1. (10 points) A metal ingot with a mass of 92.44 g is heated to 258.0 oC and dropped into a beaker containing 200.0 g of ice at 0oC.  At equilibrium, the temperature of the system is 73.8oC.  What is the specific heat of the metal?
2. (10 points) Sulfur (2.56 g) is burned in a bomb calorimeter with excess O2(g).  The temperature increases from 21.25 to 26.72oC.  The bomb has a heat capacity of 923 J/K, and the calorimeter contains 815 g of water.  Calculate the heat evolved, per mole of SO2 formed, for the reaction
S8(s)  +  8 O2(g)  (  8 SO2(g)

